
GREENSTAR CAMRAY EXT

Spare parts list                  
                                  

                                  
                                  6720620318

9

1

6

8

3

4

2

7 Burner

27/04/2009 6720620318 1



27/04/2009 6720620318 2



27/04/2009 6720620318 3



1 
Casing
D

GS Camray 

Spare parts list                                                                     

8

14
101

10
15

25

16

10

11

6

19 9

29

31

30

20

21
22

24

23
2

25

18

14
31

32 5

26

25

28

10
3

27 4

13
14 29

7

12

13
22

14 10

21

17 8
9

20

21

22

7

12

6720900632.AB

27/04/2009 6720620318 4



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

1 Cabinet right assembly 8 716 112 093 0
2 Cabinet left assembly 8 716 112 096 0
3 Brace assembly 8 716 112 105 0
4 Cabinet rear assembly 8 716 112 099 0
5 Cabinet top assembly 8 716 112 826 0
6 Cabinet front assembly 8 716 112 102 0
7 Gasket flue 8 716 112 092 0
8 Gasket valve 8 716 112 083 0
9 Washer 6mm id flat z/p m/s 2 916 011 014 0
10 Screw M5 x 10 Pan Head Pozi ZP 2 912 451 152 0
11 Bracket Assy Condensate Trap 8 716 113 312 0
12 Gasket pipe 8 716 112 091 0
13 Nut M5 Full Hex Z/P M/S 2 915 011 006 0 10
14 Washer m5 flat 2 916 011 012 0
15 Insulation front 8 716 112 714 0
16 Insulation right 8 716 112 084 0
17 Screw M6 x 35 N31A SR15/2 2 911 051 207 0
18 Screw m5x16mm hexagon slotted head 2 911 131 158 0
19 Screw M6 assembly 8 716 112 721 0 BEFORE FD 789

19 Stud 1/4 turn 8 716 113 819 0 AFTER FD 780

20 Plug 11.0 8 716 112 680 0
21 Plug 15.9 8 716 112 681 0
22 Plug 22.2 8 716 113 218 0
23 Conduit 8 716 112 078 0
24 Shield 8 711 000 300 0
25 Seal top 8 716 112 712 0
26 Insulation top 8 716 112 707 0
27 Insulation rear 8 716 112 684 0
28 Insulation left 8 716 112 085 0
29 Black nylon snap rivet 8 716 155 039 0
30 Trade mark badge 8 716 112 664 0
31 Nameplate Ext GS Camray 12/18 8 716 114 334 0
31 Nameplate Ext GS Camray 18/25 8 718 680 043 0
31 Nameplate Ext GS Camray 25/32 8 718 680 044 0
32 Screw m4x10mm taptite Scr zc pl p/h 2 914 411 408 0 2
  Receptacle 1/4 turn 8 716 113 818 0
  Key 1/4 turn 8 716 114 013 0

1GS Camray Casing
D

27/04/2009 6720620318 5



2 

Spare parts list                                                                     

Primary HT Exchanger Assy
D

GS Camray 

6720900634.AC

4

10

11

5

1

26

27

32

15 28

24

25

29

12

30

22

20

21
31 2

3

18
17

13
16

2324

9

6

7

8

14

19

27/04/2009 6720620318 6



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

1 25/32-000 Heat exchanger painted assy 8 716 111 926 0
1 12/18-000 Heat exchanger painted assy 8 716 111 995 0
1 18/25-000 Heat exchanger painted assy 8 716 112 009 0
2 22mm blanking plug 8 716 140 246 0
3 Capnut 22mm 8 716 148 011 0
4 Baffle 8 716 115 372 0
5 Baffle retainer key 8 716 111 958 0
6 Flueway cover assembly 8 716 111 941 0
7 Washer 1/4" x 3/4" x 16 gauge 2 916 011 884 0
8 Screw Hex Z M6 x 25 8.8 ZP 8 716 113 066 0
9 ROPE SEAL 8 716 113 302 0
10 Tube blanking plate assembly 8 716 112 846 0
11 Frame insulation assembly 8 716 112 419 0
11 Frame insulation assembly 8 716 112 419 0 Before FD889

12 Guard Access Door Painted 8 716 112 802 0
13 Access Door Assembly 8 716 111 985 0
14 Rope thermal resistant 8 716 111 986 0
15 Nut M10 2 915 011 010 0
15 Washer m10 2 916 011 114 0
16 Nut M10 2 915 011 010 0
16 Washer m10 2 916 011 114 0
17 Steel split pin 45mm x 1.5mm 8 716 155 047 0
18 Pocket t/stat 27-3 8 716 140 245 0
19 Bulkhead Mounting Bracket 8 716 112 800 0
20 Nut Captive  No:8 8 716 148 204 0 16
21 Screw no.8x1/2 f/h type b self tap. 2 912 421 225 0 16
22 Valve oil line 8 716 105 917 0
23 Clip - retaining 8 716 148 322 0
24 O-Ring 3.0 sec x 21.5 i/d e.p. 8 716 140 826 0
25 Nut burner location 8 716 108 053 0
26 Washer m8 form a ms zinc plate 2 916 011 015 0
27 Nut m8 full hex m/s zc pl 2 915 011 009 0 18
28 Gasket-Burner mounting flange 8 716 112 871 0
29 Burner flange 8 716 108 051 0
30 Screw m5x16mm hexagon slotted head 2 911 131 158 0
31 Air vent 1/8 bsp 8 716 140 238 0 12
32 Burner assembly Riello RDB-112/18 tested 8 716 112 840 0
32 Burner assy Riello RDB-2.2 18/25 tested 8 716 112 841 0
32 Burner assy Riello RDB-2.2 25/32 tested 8 716 112 842 0
  Insulation Jacket 8 716 111 959 0
  Insulation Top 8 716 111 960 0
  Insulation Heat Exchanger Front 12/25 8 716 112 022 0
  Tape at500 silver 50mm x 5m 8 716 142 001 0

2GS Camray Primary HT Exchanger Assy
D

27/04/2009 6720620318 7



3 
Electrical Box
D

GS Camray 

Spare parts list                                                                     

27/04/2009 6720620318 8



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

1 Electrical assembly external 18/25 8 716 112 685 0
1 Electrical assembly external 12/18 8 716 112 951 0
1 Electrical assembly external 25/32 8 716 112 952 0
2 Bracket thermostat assembly 8 716 112 689 0
3 Terminal block 6-pole 8 716 107 893 0
4 Insulation 8 716 107 890 0
5 Knob control grey 8 716 141 055 0
6 Screw m3x16mm zc pl p/h taptite Scr 2 914 411 227 0
7 Switch200400e857 3 pos ral7012 8 716 146 103 0
8 Thermostat high limit 900mm capillary 8 716 142 391 0
9 Thermostat control 900mm capillary 8 716 142 390 0
10 Thermostat frost 8 716 142 393 0
11 Thermostat manual reset 900mm capillary 8 716 142 392 0
12 Thermostat flue manual 8 716 107 624 0
13 Bush M16 cord grip 8 716 112 333 0
14 Nut M16 lock. 8 716 112 334 0
15 Boot ina term 4.8mm(dvc4.8) 8 716 146 221 0
16 Grommet nylon open-close 8 716 141 050 0 09
17 Screw M5 x 10 Pan Head Pozi ZP 2 912 451 152 0
18 Neon indicator red 8 716 105 457 0
19 Harness 3 Way 8 716 112 693 0
20 Harness 3  Way (Service) 8 716 112 694 0
21 Harness Earth 8 716 112 695 0
22 Harness Single 8 716 112 696 0
23 Harness Single 8 716 112 698 0
24 Harness 2 Way 8 716 112 701 0
25 Harness Control Stat Switch and Neon 8 716 112 945 0
26 Cover electrical folded 8 716 112 081 0

3GS Camray Electrical Box
D

27/04/2009 6720620318 9



6 

Spare parts list                                                                     

Manifold Assembly
D

GS Camray 

27/04/2009 6720620318 10



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

1 Manifold assembly 8 716 115 250 0
2 RS Air duct assembly 8 716 114 986 0
3 Thermostat pocket assembly 8 716 107 697 0
4 Steel split pin 45mm x 1.5mm 8 716 155 047 0
5 Flue service cover 8 716 113 175 0
6 Seal - Service Cover 8 716 107 536 0
7 Cap analysing point 8 716 113 177 0
8 Screw Hex Z M6 x 25 8.8 ZP 8 716 113 066 0
9 Seal SHE 16 tubes 8 716 112 954 0
10 Flue seal 8 711 004 302 0 19
11 Gasket RS Air Duct S/AD 8 716 107 535 0
12 RS Air Duct 8 716 107 362 0
13 Screw M5 x 10 Pan Head Pozi ZP 2 912 451 152 0
14 Hose clip 60mm-80mm 8 716 108 280 0
15 Burner air duct assembly 8 716 112 424 0
16 Retainer-secondary baffle 8 716 110 092 0
17 Washer condensate pipe 8 716 110 174 0
18 Cowl Spacer 8 716 113 450 0
19 Washer 6mm id flat z/p m/s 2 916 011 014 0
20 CONDENSATE TRAP KIT 8 716 113 278 0

6GS Camray Manifold Assembly
D

27/04/2009 6720620318 11



7 
BURNER ASSY RIELLO RDB 1 12/18
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 12



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

6GS Camray Manifold Assembly
D

27/04/2009 6720620318 13



7 

Spare parts list                                                                     

Burner assembly Riello RDB 2.2 18/25
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 14



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

6GS Camray Manifold Assembly
D

27/04/2009 6720620318 15



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 16



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Nozzle Danfoss 0.75 x 60 deg es 8 716 106 156 0
  Pump 8 716 109 182 0
  Electrode 8 716 109 183 0
  Coil assembly 8 716 109 185 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 17



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 18



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Capacitor 8 716 109 188 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 19



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 20



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Photo-electric cell 8 716 109 193 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 21



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 22



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner cover 8 716 109 196 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 23



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 24



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner lead 8 716 109 197 0
  Fan 8 716 109 201 0
  Control box 8 716 109 203 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 25



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 26



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Electrodes 8 716 109 211 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 27



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 28



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Pressure Gauge Extension 8 716 109 212 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 29



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 30



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Air damper assembly 8 716 109 214 0
  Drive Coupling 8 716 109 245 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 31



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 32



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Shaft seal 8 716 109 248 0
  O-ring 8 716 109 255 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 33



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 34



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Electrode clamp 8 716 109 270 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 35



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 36



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  O-ring 8 716 109 328 0
  Needle Valve 8 716 109 329 0
  Nozzle holder 8 716 109 331 0
  Tube 8 716 109 332 0
  Protection Cover 8 716 109 333 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 37



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 38



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Regulator 8 716 109 334 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 39



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 40



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Filter O Ring 8 716 109 335 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 41



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 42



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  High Voltage Lead 8 716 109 336 0
  Nozzle holder (484T50) 8 716 109 337 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 43



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 44



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Collar (484T50) 8 716 109 338 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 45



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 46



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Air/Fan Box Seal Kit 8 716 109 341 0
  Collar 8 716 109 346 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 47



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 48



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  NOZZLE DANFOSS 0.75 80 DEG ES 8 716 109 387 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 49



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 50



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Nozzle Danfoss 0.85 60 deg es 8 716 110 083 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 51



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 52



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  RDB MOTOR C/W CAPACITOR 8 716 110 522 0
  Harness 4-way 8 716 112 484 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 53



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 54



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner air inlet cowl 8 716 112 516 0
  Burner tube T2 25/32 8 716 112 521 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 55



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 56



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  LVD solenoid valve shield 8 716 112 522 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 57



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 58



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Harness-4 way 8 716 112 524 0
  Air guide 8 716 112 525 0
  Burner sealing gasket 8 716 112 528 0
  Burner mounting collar 8 716 112 529 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 59



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 60



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Brass air restricting washer 8 716 112 729 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 61



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 62



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Flexible oil hose 8 716 112 730 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 63



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 64



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner tube LD2X SH 12/18 8 716 112 731 0
  Circlip 8 716 112 773 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 65



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 66



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner mounting collar 8 716 112 776 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 67



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 68



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Nozzle holder 8 716 112 777 0
  Air damper disc RDB1 8 716 112 778 0
  Air direction plate 8 716 112 779 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 69



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 70



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Burner tube T2 SH 18/25 8 716 112 780 0
  AIr damper disc RDB2.2 8 716 112 783 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 71



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 72



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Nozzle danfoss 0.45 60 deg es 8 716 114 545 0
  Restricting washer & circlip kit 8 716 115 226 0
  Pump G Riello RDB 8 716 115 297 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 73



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 74



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Oil hose HNBR 900mm 8 716 115 312 0
  Nipple 1/4" coNical x 1/4" coNical 8 716 140 554 0
  Washer copper 1/4" 8 716 142 769 0
  Nozzle danfoss 0.60 80 deg es 8 716 156 670 0
  Nozzle danfoss 0.55 80 deg eh 8 716 156 671 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 75



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 76



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Nozzle danfoss 0.50 60 deg es 8 716 156 673 0
  Nozzle danfoss 0.40 60 deg es 8 716 156 679 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 77



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 78



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Air inlet cowl 8 718 682 134 0
  Combustion head 8 718 682 170 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 79



7 
Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Spare parts list                                                                     

Drawing not
currently 
available

27/04/2009 6720620318 80



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Capacitor cover 8 718 682 174 0
  Digital control box 8 718 682 250 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 81



7 

Spare parts list                                                                     

Burner Assembly Riello RDB2.2 25/32 HE
D

GS Camray 

Drawing not
currently 
available

27/04/2009 6720620318 82



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  Gasket burner 8 718 682 439 0

7GS Camray Burner Assembly Riello RDB2.2 25/32 HE
D

27/04/2009 6720620318 83



8 
Secondary HT Exchanger Assembly
D

GS Camray 

Spare parts list                                                                     

27/04/2009 6720620318 84



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

1 Secondary Heat Exchanger Final Assembly 8 716 112 430 0
2 Screw Hex Z M6 x 25 8.8 ZP 8 716 113 066 0
3 Air vent manual 1/4 bsp 8 716 140 516 0 21
4 Boiler drain tube 8 716 141 219 0
5 Seal SHE 16 tubes 8 716 112 954 0
6 Baffle double secondary heat exchanger 8 716 108 105 0
7 Air vent 1/8 bsp 8 716 140 238 0 12
8 washer 30.5x22.2x1.5 8 716 140 920 0 13
9 Pipe Ch Return 8 716 112 809 0
10 Nut clamping g1 8 716 140 247 0
11 Pipe - Secondary To Primary 8 716 112 811 0
12 O-Ring 3.0 sec x 21.5 i/d e.p. 8 716 140 826 0
13 Clip - retaining 8 716 148 322 0
14 Cowl Spacer 8 716 113 450 0
15 Washer 1/4" x 3/4" x 16 gauge 2 916 011 884 0
16 Pipe Central Heating return expanded 8 716 112 866 0
  Insulation secondary top 8 716 108 937 0
  Insulation secondary bottom 8 716 108 938 0
  Tape at500 silver 50mm x 5m 8 716 142 001 0

8GS Camray Secondary HT Exchanger Assembly
D

27/04/2009 6720620318 85



9 

Spare parts list                                                                     

Additional Spare Part
D

GS Camray 

27/04/2009 6720620318 86



Pos description S-Nr ordering no. PG gas type

 G
S 

C
am

ra
y

remarks

  IM External 12/32 01/2007en 8 716 112 700 0
  OM External 12/32 01/2007en 8 716 112 711 0
  Literature Pack - Camray External 12/32 8 716 112 723 0
  IM Oilfit External 12/32 01/2007en 8 716 112 724 0
  Central Heating Return Pack 12-25kw 8 716 112 865 0
  Pipe Central Heating return expanded 8 716 112 866 0

9GS Camray Additional Spare Part
D

27/04/2009 6720620318 87



Pos
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

2
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21

Pos
22

List of translations                                                                 

27/04/2009 6720620318 88



23
24
25
26
27
28
29
30
31
32

3
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
6
1
2
3
4
5
6
7
8
9

10
11
12
13
14

Pos
15
16
17
18

List of translations                                                                 

27/04/2009 6720620318 89



19
20
7

Pos

8
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16

9

List of translations                                                                 

27/04/2009 6720620318 90



United Kingdom7 716 100 116 GREENSTAR CAMRAY 25/32 EXT

United Kingdom7 716 100 114 GREENSTAR CAMRAY 12/18 EXT

United Kingdom7 716 100 115 GREENSTAR CAMRAY 18/25 EXT

Types of appliances                                                                  

Appliance ordering no. Country remarks

27/04/2009 6720620318 91



27/04/2009 6720620318 92



27/04/2009 6720620318 93



x

27/04/2009 6720620318 94


